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2) o+ (Sloka)

TH W W SEE: TH OWISE Wl
TR e T A Tl
TR TSAST E: T TISTIE
T WeEgeRg WEH 8 I g w0
w=s (Word decomposition)

i STSAR It is very sour

dfé ag= R Then, what else?
EURRCE What is the total
TR ST That will be 10 rupees

3) s %W (Vocabulary)

3-31) go=<: (Nouns, Adjectives, etc.)

FESRE: T W WG | T T | ST w TEh: Head AN Forehead
;| T T T | T 31@ o S | 5% 9 Eye brow | =de: Cheek
uREy Qe Hfem | UH oEge 9
g | @ WA W g T EasH Throat E Chest
s (Meaning] REoF Shoulder g Arm
) e Belly SiBT Stomach
Rama, the preceptor of moving and non- - -
moving entities, may he protect me. I always = Waist ki HIP
pray [to] Rama. The foes of Gods are destroyed Bl Knee TE Shin
by Rama. Salutations to that Rama. This world I Ankle s Thigh
has sprung from Rama alone. I am Rama's T Elephant T Deer
servant. Let there be unwavering devotion in Hfew: Buffalo quH: Bull
Rama. Oh! Lord, Rama salutations to you. T Red i Blue, Dark
R) @ymw (Conversation) Lk Modesty foarn Judgement
ferfteH What is this? ki Firm i Doubt
IR T This is a fruit 3-3) fae=m: (Verbs) : The roots and (stems) of
FeAT HOH, What kind of fruit? more Sanskrit verbs:
FCH, STHHSH This is a mango s (sW) | to earn 28] (38) to see
R A Is it sweet? FR (F/) | shine & () | throw
3SR Yes, very sweet g4 (g#4) | hungry | m (ww@) | count
fra oot What is the price? % (%) | happen = (=) sip
Theh § EEEHIO Two rupees each I (=) | steal 7 (T Cross
S s v weEl wig | Make it 3 for 5 rupees @S (&) | abandon | T (few) | show
3 BRY e Ok, please take 12 dq (f=) | light F (7 lead
W @i No, 6 will do 7= (7=) | ask =1y (sw) | bother
Y A wer Also, please try these W (7)) | think (W) protect
RS TRy sweet grapes W (W) sport @Y (@) | covet
o I anfesdet Sir, they have to be washed 9 (@) | carry T (FR) sit
g affeseil Now it is washed wg (W) | endure g (%) take
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3-3) Ew (Indeclinables) loss of Visarga. This table lists only the more

- And = Or common forms of this sandhi.]
el As long as rere], Till then - T TR
LUl Quickly et Silently 2 - o
:ﬁ%}: Low ﬁl High Q - R
: In front g Behind 3 Z N ca
T: Slowly Y Speedily - _ T —
ST Now T Oold u - q 9
¥) e e (Simple Sentences) s ~ 2 ki
© - L5 A
RUIE IS | Let there be peace ¢ - 4 T
SRIYA: SRIg May the prince be victorious ] <) B 3
;S May life increase o | & f1-3ft (Bm)
oy e May the parents be pleased 2R il 3T DA (W) 2R
¥« Wit weg | May all see good bl : & ()
G Lo May the Gods be pleased R Bl : TR X
T ag Speak the truth t¢ A3 : L& ?:;()ﬁq)
W | @ ¢
&S eS| Forgive me, Lord ~
3 = s v 3 & | ™ T (@)
AR TSI, ou two boys study - T ~ (@)
g giiad #euM| You two serve the needy
¥ oo wd W@ | Students, follow dharma Some examples:
foer @ %Fe | Do not argue A B~ AR
I I Let me eat A qH - SEH
& Let me speak wif: wfq: - wnfenf: or onfawent:
TR gfere Let us enter the city o W - TR A A
: — ol wifd - woEdfa @ wdeEd
e Tes Let us rejoice
—— M I — B == - eRe:
s : SUE ay(;/ve .fgrt;usplclous T S -
sounds wi e ears . .
: - g G - Ty
i May we benefit MF: SOH: - Al SH: - SAHISUM:
w) "fe: Sandhi T TR - T T
y-37) fowi wfe: Aspirate Sandhi L
The Vi Aspirate sandhi i o -
e Visarga or Aspirate sandhi is a very common
e or b Y Yo T - o, T FEn - s
sandhi. In this sandhi the transformation of the
. ) . ] foon: wifd - foey wifq
Visarga is governed by the sound that immediately S
precedes (g:) and follows (w) it. The sounds that - '
de, follow and the result (31:) of the change R
prece ! ) o & W - WA R/
of the Visarga are summarized in the table below:
[ In the table, a dash implies that sound as not & gaarser — Declension
being relevant. 3= is any vowel, & any consonant, As we have noted earlier, a Sanskrit sentence
& any semi-vowel or soft consonant. &4 means revolves around the verb or action. Many
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nouns may be associated with a verb, with
each noun having a specific relationship to the
verb. In English these relationships are
expressed through the use of prepositions or
by appropriate syntax or word order. In
Sanskrit, syntax plays only a minor role thus
allowing a great deal of latitude for display of
poetic beauty and expression.

The relationship between the verb and the
various nouns is expressed through inflections
of the primitive noun called yifaufes . The
inflections are called fauf® werm: |

g§-¢ fomea: — Cases
o = fgdien oot - Nominative / Accusative cases:

In the sentence "Siva saw Uma" the action is
seeing, the seer is Siva and the seen is Uma.
The seer is the agent of the action and is the
%4 | The seen is the direct object of the action
the &9 |

Let’s examine the following sentences:

Rrer: 39 atgear | e stovEq 3@ | AT swuvEq e | SHi
Rrer: sowad | efaeEd 3l e | stovAd fe: 3| 1 In the
above, although the word order is different,
all sentences mean exactly the same. This is
not true in English as “Siva saw Uma" is quite
different from "Uma saw Siva.” In English,
the seer and seen are distinguished through
word order. In Sanskrit the relationship is
built into the words through inflection and
therefore the word order is immaterial. To

d

express "Uma saw Siva,”
e stowAd |

The words ®f@: and 3@ are in the nominative

we would say: s

case or v fauis distinguishing them as the
agents of action - the seers. The words®e and
3 are in the accusative case or fgden favwfs
denoting them as the direct objects of the
action - the seen. Consider the following:
ol e g=d 3| S |

In the above sentence we have added two
adjectives. The adjectives also take case
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endings. The adjective for Rm: is du&it meaning
an ascetic, and the adjective for sa (3q0) is <4
(g<U) meaning beautiful. The noun and the
adjective that modifies the noun have to be in
the same case thus clearly establishing the
relationship between the modifier and the
modified. There can be no confusion about
what modifies who. In the sloka at the
beginning of this lesson =w=/e: is an adjective
for ™: and they are both in the nominative
case. There are 8 cases in Sanskrit. The sloka
uses T the widuies in all 8 cases. We will study
the other 6 cases in the next unit.

o fag<rsom Verbs - Conjugation
v-37) amd B - Imperative Mood

The Imperative mood in Sanskrit is used to
express a wish or prayer, a command or
advice, or granting / seeking permission.
Generally in the second person it is a
command, in the third person it is a wish or
blessing and in the first person it seeks or
grants permission. The Imperative uses only
a suffix and is added to the stem of the verbal

root.

TG (AEug) oA e faem

Th g1 fg a=A 9 o=
He| gRd g (™) g

(M) (3a™) (=)
e e T q

(=) (3e™) (&)
T e 3 e St

® (3TR) (3R

Please review the sloka in Unit I for examples
of Imperative mood usage. Also, the sentences
in section 4 are examples for the use of this
mood.

Study Tip: You may wish to make flash cards
using index cards. Cut each index card into
halves or quarters. Write a Sanskrit word on
one side of a card and the English meaning on



the other. Add more cards as you encounter
new words. Review the words regularly;

especially the ones which seem less familiar.

Exercises

1. Rewrite the sentences in section 4 using the
vowel and aspirate &4 rules.

2. Do w=% in the following sentences:

T o TS | A Seta | RO | Serege STeE |
Y FHUG g AT | USSR | W TS |

3. Change the imperative mood into present

tense or vice-versa. Note the pada!

Clues Down:

Ultimate knowledge

2 Able, clear sighted
3 Gold

4 Immediate

6 Use

7 Censure

8

9

Auspicious

RUCESR S| Praise Govinda

Rrea: eeg May the pupil speak
gl eARI: Two scholars meditate
T o Kings speak

SEIC We two forgive

o freE You learn

TESM Herg May good happen
EIICE S Two sages let go

TSI STRALT, You two start reading
ERESEIY Let the two heroes win
REERIED You two speak

Sanskrit Crossword #3

(One syllable per box)

Clues Across:

Poet

Enemy

Moonface [face like a moon]
Om

Axe ( Hint: 6" avatara of Vishnu)

coc & U B~ =

10 Clever or four

11 Mother (giver of life)
12 Of mother

13 As appropriate
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Solutions to Exercises from Unit -2

1. fade: | W@ | 9EAg | @ | @R | Mg |
TAR | S | TEr | G 1 swsfE

2. WETE | TR M | o RN | T Wed: | Thel W | YRy
3®H | wag SEW | fig o®m | O SEFem:

3. W A | ook SfRMM | SRM @@M: | e
TR | I IR | o S | STy SR | RS
ST | A TR | 3TRH TSN | A ST Il

4. Solution to Crossword #2 :

LU | ¥ T | Y HRE | § T | ¢ SRR | o SN |
1 23 FR Il 3 SFRA | 3 TR |
| & SROET

R TH |1 R =W

¥ A | § T | @ I9@A | ¢ R



